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13th Oct. RRB NTPC Reasoning Sunday Mega Quiz (Questions)

Q1. Find out the odd word/letters/number/number pair from the given alternatives.

T 7 et § & e w1 39+ fifvw:
(a) Kuchipudi/ TSt

(b) Kathak/ F=%

(c) Bhangra/ @i vTET

(d) Pongal/ 9 Ter

Q2. Find out the odd word/letters/number/number pair from the given alternatives.
e o fawedt & @ faww &1 =7 fifee:

(a) PE

(b) MV

(c) GP

(d) DM

Q3. The age of Dr. Pandey is four times the age of his son. After 10 years, the age of Dr. Pandey will
be twice the age of his son. The present age of Dr. Pandey’s son is:

ST, qie i S I TA Y Y & AT AT & 10 TH T SILAT0ST 6l Y IT6 T H M IR[AT gL, ST.
qTUST H TAAT Y AT 82

(a) 4 years/ad

(b) 5 years/a™

(c) 6 years /AT

(d) 8 years/a™

Q4. From the given alternative words, select the word which cannot be formed using the letters of
the given word:

w1 ket § & 5w fawew &1 3w fifsy @ g @ a5 % quit 9 T8 97 ST a9t
INTELLIGENCE

(a) CANCEL

(b) NEGLECT

(c) GENTLE

(d) INCITE

Q5.If Cis coded 3, DASH is coded as 32, then DANCE will be coded as

Ifd C #T 3 % €7 A Hfeq AT S1aT 8, DASH ¥ 32 & €9 | Hfed {41 14T 8, I DANCE %t e €0 &
Ffea fwar stTaEm?

(a) 20

(b) 25

(c) 26

(d) 27
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Q6. Sanmitra walked 8 m towards the north. He turned to his right and walked 16 m, then he
turned to his left and walked 5 m and again he turned to his left and walked 16 m . In which
direction is he from his starting point?

=T S At SR 8t Tt 8. 9 STUN 13 AT § AT 16T Tt §, fhY 7€ sraw a7¢ q=f g v 5T
FAAT & S AT A4 JEAT € S 167 Tt §. a8 T+ iy g a o fer 9 82
(a) South/aferor

(b) East/T&
(c) North/3<¥

(d) West/afarg

Q7. Identify the diagram that best represents the relationship among classes given below:
T T =t & & i QU T et F | F i q9riar g

Rose, Marigold and Flowers

AT, T AT |/
(a)

IS
(b)

A A

(c)
m

(d)

AT ATTAN

Q8. If a mirror is placed on the line MN, then which of the answer figures is the right image of the
given figure?
73 T@T MN 9T TF 97 T@T 4T §, a7 Ry ¢ S ey § & &ty = it a8t s 82
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(b)

Q9. Select the odd word/letters/number/number pair from the given alternatives.
e o fawedt & @ faww &1 =7 fifee:

(a) 1/2

(b)1/3

(c)1/4

(d)1/5

Q10. Select the odd word/letters/number/number pair from the given alternatives.
e 1 fAwedt 7 & faww &1 =9+ fifve:

(a) 897

(b) 969

(c) 888

(d) 432

Q11.Food is related to Hunger in the same way as Medicine is related to:
S T @1 @ & gy fed g, SHT T 39T e & g fia g7

(a) Disease /aTHTEY

(b) Miracle /=#HcRT

(c) Growth / fa=T®

(d) Drought/q@T T=T

Q12. If 'star’ is called 'water’, ‘water’ is called ‘tree’, ‘tree’ is called ‘sky’, ‘sky’ is called ‘earth’. On
which of the following birds fly?

e e &1 9y, A B UL, TS T SAHTL, TR R G T 14T 2. At § F qeft wigt
=4 87

(a) Water /9Tt

(b) Star/f&am

(c) Sky /3AreRTer

(d) Earth /9=t
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Q13.If P denotes +, Q denotes -, R denotes '+', and S denotes x, then: 15524R12Q5P8 =?
Ife P, +' &I, Q, -~ &I, R+ & 3T S X’ T IATAT §, T 15524R12Q5P8 =?

(a) 115

(b) 33

(c) 55

(d) 45

Q14. If HOME is coded as IONE, DONE is coded as EOOE and CORD is coded as DOSE, how would you
code SOLD?

gf HOME #' IONE % &9 #, DONE #t EOOE ¥ &9 ¥ 3f¥ CORD %t DOSE ¥ &7 # Fifeq frar sar g, av

SOLD & y&1< fer@T STammm?
(a) TPOT
(b) TONE
(c) TOMS
(d) TOME

Directions (15-17): A series is given with one term missing. Choose the correct alternative from
the given ones that will complete the series.

TF S@AT <t T8 g Orad o o o1a § ol w7 fAsedt & & S Aaes &1 997 37 § S 56 SE@«t
T FE?

Q15.5,8,12,17,23,?

(a) 30

(b) 72

(c) 65

(d) 48

Q16. AN, EQ, IT, MW, ?
(a) QZ

(b) KX

(c)1v

(d) ZM

Q17.PRQ, UWV, ZBA, ?, JLK
(a) FHG
(b) EGF
(c) DFE
(d) FGE

Q18. Pointing towards a boy, a girl says, "He is the only son of my Special Offer
mother's brother". How is the girl related to the boy?
T ASh i &AL SART Fd gU, TF ASh! Fgdl §, “dg HA Al 6 AT HT

et qeT &) T % F e T Gt 37 RRB NTPC 2019
(a) Grandmother/¥=HaY -

(b) Mother/#t STAGE-1

(c) COUSin/T%'_’T 25 Previous Year Papers
(d) Aunt/sre
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4 | www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-testseries/2969/RRB-NTPC-Stage-I-Previous-Year-Papers-Online-Test-Series-Special-Pack

Q19. In the following question, one or two statement(s) is/are given followed by two
conclusions/assumptions, I and II. You have to consider the statement to be true, even if it seems
to be at variance from commonly known facts. You are to decide which of the given
conclusions/assumptions can definitely be drawn from the given statement. Indicate your
answer.

= g @ o ®, T Fue fRw 1 § ek i < Ao 187 11 fRw 1w 8. sy fRw 1T et i ot 91T
& W BT F gasTa a1 & 9 wodig gra gt e s Raifa s Fak R Reeaf s @ s ar
T T FAAT FT SATHLIT FAT B,

Statement:

Some kings are queens. All queens are beautiful. /37 Fg TST AT §. T TRAT Grat g
Conclusions: /fHTT:

I. All kings are beautiful./&¥T TTSIT 7a< &

I1. All queens are kings /@t Tt TT &

(a) Only conclusion I follows,/ Fae MY | LA FHLAT &

(b) Only conclusion II follows/ @< THEHT 11 SATALIT FIAT 5

(c) Either conclusion I or II follows/ It IT a7 [HeH [ AT 11 TEL0T FIAT €.

(d) Neither conclusion I nor conclusion II follows/ T T I T & 11 ST F2aT &

Q20. Find the number of triangles in the figure

2 At s F Bt it dewT 1T w1

(a) 12
(b) 10
(c)18
(d) 16

Q21. In a family Mr. Prakash has his wife and his two married brothers of whom one has two
children and another has none. How many members are there in the family ?

oft werer % TREATT & ST et i I &Y FrarRa Wi &, Rl & uw F 9 a9 § o gu #1 R agr AL )
TfEr § fhae 9ee7 7

(a) 12

(b) 8

(c)6

(d) 10

Q22. In the following question, select the missing word from the given series.
Ruferfe v |, & T @ § § A7 M58 H AIT B

B[A[B
clclp
Y[P|[?
(a) E
(b) D

(©)]
() H
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Q23. Ifthe first day of a year is Sunday, what will be the first day of the next year? (not a leap
year)

i au &1 98T i TRAR 8, T 316t T T IgAT (&7 FT FI? (TH AT 99 7gh)

(a) Saturday/SrHaT<

(b) Friday/g[HaTX

(c) Monday/|HHaTX

(d) Thursday /&I

Q24. Mona walked 20 km towards east, turned left and walked 15 km, then she turned left then
right and again right. In which direction is she going now?

AT 20 Bt g it S ==t §, a7 gEdt § 37 15 Bt =t §, e 9 g, fhe 3 e fie e ard
At gl AT ag P Rewr A ST &Y 87

(a) East/‘i;ac

(b) West/afsre

(c) North/3<T

(d) South /farer

Q25.1f4x6x9x1=4196;2x3x7x2=2273,then1x4x8x9="?
IR 4x6%x9%x1=4196;2%x3x7%x2=2273, TW1x4x8x9=7?

(a) 1984

(b) 9841

(c) 1489

(d) 8149

Q26. A piece of paper is folded and cut as shown below in the question figures. From the given
answer figures, indicate how it will appear when opened.

T FRTH & ghs I {IE FL G AT 147 91 7 = qerian w4 g, = g 13 = & sra v & @
ST 92 I T werTe o fea.

Question Figure:

pupmp—— Y jF————

Answer Figures:

(a) (b) (9 (d)

(a)a
(b) b
(c)c
(d)d Special Offer
Q27.
@ @ ONNO ONNO
RRB NTPC 2019
5 ) 5 STAGE-1
(a) 20
(b) 25 35 TOTALTESTS
EZ)) F;% Bilingual | Validity : 2 Months

6 | www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-testseries/2968/RRB-NTPC-Stage-I-Online-Test-Series-Special-Pack

Q28. If a mirror is placed on the line MN, then which of the answer figures is the right image of the
given figure?

7 T@T MN 9= T gdvr Tt 9w, f e 8 & w5 ar s R afem & ot i@ anfie

(a) (b)

S
E

(c)

(a)a
(&) b

(c)c
(d)d

Q29. Identify the diagram that best represents the relationship among the given classes.
I ATG FT FIT HL S Y T FT o S GHET T GG T=37 TS AT §
Biosphere, Hydrosphere, Atmosphere

Shaie, e, argHed

(a)

(b) T

OO
O

&
©

@)

()

(d)

Q30. In the following figure, rectangle represents Hairstylists, circle represents Racers, triangle
represents Divers and square represents Fathers. Which set of letters represents Fathers who are
Divers?

. dda:
& Tft sl @, A YR wIEiee 7, 39 W9 #, B sgad a7 o) o't N =
ﬁm%‘ryﬁﬁﬁawél FAL FT *i7 91 92 fUar 1 e f@r g s A COMPREHENSIVE
TTEaH 87 GUIDE FOR
] RRB NTPC STAGE-1& 2
e| F 5
Gl : . 4500+ 9 Fun -Length
= Questions Practice ;
N . 5g+ Mecke «!ﬂ :
(a) BA 5 oo ha%,u;"i‘.:n_w L%
(C) HA Papers A
(d) GA —
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